
Part I . 
Consider the code below.

ok(1).
ok(2).
ok(3).
ok(4).
ok(5).

small(X):- ok(X), X =< 1.
big(X):-     ok(X), X >= 3.

test0(X):- !,X, fail.
test0(Y).

test1(X):- X, !, fail.
test1(Y).

test2(X):- X, fail, !.
test2(Y).

hmm1(X):- X, !.
hmm2(X):- !, X.

1. What would be the results of the following queries?
a) test0( small(Y) ).
b) test0( big(Y)    ).
c) test0(  hmm1 ( small(Y) )  ).
d) test0( hmm1( big(Y) )       ).
e) test0(  hmm2 ( small(Y) )  ).
f) test0 ( hmm2( big(Y) ))       

g) test1( small(Y) ).
h) test1( big(Y)    ).
i) test1(  hmm1 ( small(Y) )  ).
j) test1( hmm1( big(Y) )       ).
k) test1(  hmm2 ( small(Y) )  ).
l) test1( hmm2( big(Y) ))     

m) test2( small(Y) ).
n) test2( big(Y)    ).
o) test2(  hmm1 ( small(Y) )  ).
p) test2( hmm1( big(Y) )       ).
q) test2(  hmm2 ( small(Y) )  ).
r) test2( hmm2( big(Y) )).       

Part II . Consider the code below.

2. What would be the results of the following queries?
a) q(X, 3) = q(b, Y).
b) q(X, z(a)) = q(b, Y).
c) q(X, z(X)) = q(b, W).
d) q(X, z(X)) = q(b, a).
e) b=X, q(X, 3) = q(b, Y).
f) X= b, q(X, 3) = q(b, Y).
g) x= b, q(X, 3) = q(b, Y).
h) q(X, 3) = q(b, Y), b=X.
i) X \= a.
j)  x \= a.
k) X =:= 1.
l)  X =\= 1.
m)  X is 1, X =:= 1.
n)  1 is X , X =:= 1.
o) q(X, 3) == q(b, Y).
p) q(X, z(a)) == q(b, Y).
q) q(X, z(X)) \== q(b, W).
r) q(X, z(X))  == q(b, a).




3. Consider the VARIABLES program in Fig. 5.2. What will be the results of the following queries?
a) args(1, q(X, z(X)) = q(b, W), U).
b) args(2, q(X, z(X)) = q(b, W), U).
c) vars(q(X, z(X)) = q(b, W), U).


4. Consider the MAP program in Fig. 5.3 together with the following additional predicate
t(X,Y):- Y is X*X.
What will be the results of the following queries?
a) [bookmark: _GoBack]map(t, [1,3,5,7], Xs).
b) map(increment, [1,2,3,4], Xs), map(t, Xs, Zs).




